DATE: August 11, 2011

TO: Cape Elizabeth School Board

FROM:

RE: Extra Curricular Position Nominations

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Karen Johnson	Cape Olympians (formerly Special Olympics)		62.5	14.00	\$ <i>875</i> .	school	N	N	
David Croft	Cape Olympians (formerly Special Olympics)		62.5	14.00	\$ 875.	school	N	N	

DATE: August 17, 2011

TO: Cape Elizabeth School Board

FROM: Steve Connolly

RE: Recommendation for Extra Curricular Position(s)

Activity	Name	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Chorus 5-6	Nancy Murphy		85	\$14.00	\$1190	school	n	у	
Chorus 7-8	Nancy Murphy		25	\$14.00	\$350	School	n	у	
Drama Director	Steve Price		375	\$14.00_	\$5250	school	n	n	
Performance Center Director	Steve Price		125	\$14.00	\$1750	school	n	n	
Instr Music 5-8	Caitlin Ramsey		100	\$14.00	\$1400	school	n	n	
Math Team 5-6	Allison Caruso		50	\$14.00	\$700	school	n	n	
Math Team 7-8	Brian Freccero		50	\$14.00	\$700	school	n	n	
Speech	Alison Hawkes		75	\$14.00	\$1050	school	n	n	
Debate	Carrie Newton		75	\$14.00	\$1050	school	n	n	

Activity	Name	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Student Council	Carrie Newton		100 100	\$14.00 \$14.00	\$1400 \$1400	school	n	n	
Student Council	Tabitha Eastman		100	\$14.00	\$1400	SCHOOL	n	n	
Variety Show	tba		35	\$14.00	\$490	school	n	у	
Yearbook	tba		40 40	\$14.00 \$14.00	\$560 \$560	school school	n n	y y	
Grade Five Team Leader	Sally Connolly				\$2800	school	n	у	
Grade Six Team Leader	Allison Caruso				\$2800	school	n	у	
Grade Seven Team Leader	Deb Casey				\$2800	school	n	n	
Grade Eight Team Leader	Jamie Michaud				\$2800	school	n	n	
IS Team Leader	Cheryl Joys				\$2800	school	n	n	
WL Team Leader	Lisa Leonard				\$2800	school	n	n	
AA Team Leader	Marguerite Lawler- Rohner				\$1800	school	n	n	
SST Coordinator	Kim Sturgeon Gretchen McCloy				\$1400 \$1400	school school	n n	n n	

Activity	Name	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
SST Instructional Support	Cheryl Joys				\$1350	school	n	n	-
SST RTI (7/8)	Laura Ellis				\$1350	School	n	n	

Nancy Murphy has replaced Rebecca Bean as the CEMS Music Instructor and will teach the morning choral sections as well.

There are two extra curriculars that still need to be filled at this time: variety show and yearbook.

JUN 1 3 2011

CAPE ELIZABETH SCHOOL DEPARTMENT **EXTRA CURRICULAR POSITION**

DATE: 6/10/11

TO: Cape Elizabeth School Board

FROM: Scott Labbe

RE: Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Christopher Drake	7+8 Tennis	1	120	1680.00	1680.00	School	No	NO	
Brian Hansen	Tennis Asst	1	90	1260.00	1260.00	School	NO	NO	
Ben Dyer	8th Boys Socier	1	124.8	1747.20			NO	NO	
Wayne Wing	8th Girls Soccer		124.8	1747.20	1747.20	Se hool	NO	NO	
Sara McClimint	7th birls Soccer	1		1747.20			No	NO	

JUN 1 3 2011

DATE: 6/10

TO: Cape Elizabeth School Board

FROM: Jest Cabbe

RE: Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Joe Doane	Boys Middle School X-countary	1.1	100.8	1411.20	1552.32	School	No	No	
Paul Casey	Girls middle of school X-country	/	100.8	1411.20	1411.20	School	No	NO	
Diane Nicholson	8th Field Hockey		124.8	1747.20	1747,20	School	NO	NO	
Hannah Rohner	7th Field Hockey			1747.20			No	Xes	
Jayson Jackson	Middle School Fort	ball !	153.6	2150.40	2150.40	Cape Youth Football	No	NO	

Hannah is one of our middle school teachers, she also coaches middle school Nordie and Indoor track.

JUN 1 3 2011

DATE: 6/10/11

TO: Cape Elizabeth School Board

FROM: Scott Labbe

RE: Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Eric French	middle School Football	1	153.6	2150.40	\$ 2150.40	Colbal	No	NO	
7-					i .	,			
							<u> </u>		
								·	

DATE: August 15, 2011

TO: Cape Elizabeth School Board

FROM: Jeff Shedd, CEHS Principal

RE: Staff Recommendations for 2011-12 Extra Curricular Positions

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
3 101 1	English Dep't				2 000	Cobool	N	N.	
Joel Shroder	Chair				2,800	School	IN	N	
Belinda Snell	Guidance Dep't Chair		_		2,300	School	N	N	
Betsy Nilsen	Arts and Technology Dep't Chair				2,550	School	N	N	
Ali Gwyther	Foreign Language Dep't Chair				2,550	School	N	N	
Gretchen McNulty	Social Studies Dep't Chair				2,550	School	N	N	
Tony Ghidoni	Math Dep't Chair				1,400	School	N	N	
Charlotte Hanna	Math Dep't Chair				1,400	School	N	N	
	Science Dep't Chair		-		2,800	School	N	N	

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
G !! G!	Health/PE Dep't				2.550	Calaad	N.1		
Scott Shea	Chair				2,550	School	N	N	
	Dep't Head,								
	Special Education				2,800	School	N	N	
	Research		<u> </u>	<u> </u>	2,800	3011001		14	
Joyce Bell	Coordinator				2,800	School	N	N	
Joyce Dell	STP Coordinator				2,000	5611001		11	
	1/2				1,400	School	N	N	
	STP Coordinator								
	1/2				1,400	School	N	N	
	9 th Grade Class		F0	14.00	700	Cobool	8.I		
	Advisor		50	14.00	700.	School	N		
Chris Newell	Sophomore Class Advisor		50	14.00	700.	School	N	N	
CINIS NEWCLE	Junior Class		30	11100	700.	School	, ,		
Mary Page	Advisor		100	14.00	1,400	School	N	N	
	Senior Class								
Tom Kohan	Advisor		100	14.00	1,400	School	N	N	
	Booktalk		30	14.00	420.00	School			
Dick Mullen	Theater Fall		290	14.00	4,060	School	N	N	
Dick Mullen	Theater Spring		290	14.00	4,060	School	N	N	
Dick Mullen	Theater Class Productions		72	14.00	1,008	School	N.	N	
Dick Mullen	Theater Manager		75	14.00	1,050	School	N	N	

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Deb Richio	Theater Assistant		150	14.00	2,100	School	N	N	
Larry Allen	Music Director for Musical				0*	School	N	N	*Budgeted every other yr
Peter Bloom	Theater Technical Director		135	14.00	1,890	School	N	N_	
Tom Lizotte	Jazz Band 1		325	14.00	4,550	School	N	N	
Tom Lizotte	Jazz Band 2		220	14.00	3,080	School	N	N	
Tom Lizotte	Jazz Band 3		70	14.00	980.	School	N	N	
	Jazz Combo 1 & 2		275	14.00	3,850	School	N	N	
	Literary Magazine		100	14.00	1,400	School			
Chris Hayward/ Chris Newell	Math Team		220	14.00	3,080 CH-1540 CN- 1540	School	N	N	
Mary Page	Mock Trial		180	14.00	2,520	School	N	N	
Andrea Cayer	Natural Helpers 1/2			14.00	1,505	School	N	N	
Rob Thompson	Natural Helpers			14.00	1,505	School	N	N	
Evan Thayer	Robotics		40	14.00	560.	School	N		
Shawn Guerrette	Science Olympiad		80	14.00	1,120	School	N	N	

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Dick Mullen	Speech		408	14.00	5,712	School	N	N	
	Speech Team Asst		72	14.00	1,000	School			
Brandy Lapointe	SAC		40	14.00	560.	School	N	N	
1	Art Club (sem. 1 and 2)		84	14.00	1,176	School	N	N	
	Faculty Consultant(s) for Student Govt		160	14.00	2,250	School			
Ginger Raspiller	NHS				1250	Student Activities Funds	N	N	
Gretchen McNulty	World Affairs Council/Model UN		215	14.00	3,010	Extracurric ular Dues and Fees account	Ni	N	
Bill Kueck	Gay Straight Alliance		12	14.00	168	School	N	N	

DATE: 8/23/11

TO: Cape Elizabeth School Board

FROM: Tom Eismeier

RE: Recommendation for Pond Cove Co Curricular Positions

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)	*If yes, provide a brief description of qualifications below or on a separate sheet.
Melissa Bam	IS Team Leader				2800.		N	Υ	